Year 5 Homework, Summer Term Week 3

ok wnh -~

Maths: Speedy Six ’

6x6 =

654 -182
148 + 366 =
17 x 10

What is V2 of 22?
Colour in 36% of the grid.

Comprehension: Complete the comprehension ‘The Labours of Hercules’.

Spellings

beetle
bubble
candle

circ
cyc

e

e

double

~

/

Optional Maths Extension:

One bonus house point available

Addition Word Problem Challenge Cards * % %

Jafar was playing marbles. He started with 26
marbles. His friend gave him 12 more.

How many does he now have?

Jafar wants to play a game that needs 50 marbles,
how many more does he need?

Homework is due in on 10t May




